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QUESTION 1

To complete an orderdocument\\'s lifecycle, each document has a set of different processes that it can go through. What
are these processes called? 

A. Pipeline determination 

B. Process types 

C. Order Validation 

D. Instruction types 

Correct Answer: B 

 

QUESTION 2

Which two statements related to Item Attribute are true? 

A. Categories managed by sub catalog organizations inherit attributes and attribute values from the catalog
organization. 

B. When we assign a value to an attribute in a category, the value is not inherited by attributes in child categories,
classifications, and items in those categories 

C. The item attribute domain is automatically created on defining the catalog organization. 

D. Multiple attribute domains can be present for a catalog organization. 

E. When we assign a value to an attribute in a category, the value is inherited by attributes in child categories,
classifications, and items in those categories 

Correct Answer: CE 

 

QUESTION 3

Which option is NOT an advantage of using the indexing solution in an IBM Sterling OrderManagement V9.4
implementation? 

A. All operations can be executed using a Java client object. 

B. Data can be indexed by using JSON over HTTP. 

C. Configurations can be set at the index level. 

D. All the capabilities of Eclipse are exposed throughsimple configurations and plug-ins 

Correct Answer: D 
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QUESTION 4

On any given Order List screen, pagination needs to beimplemented. 

What can the implementation professional do to accomplish this? 

In the Application Manager, go to Application Platform > Presentation > Resources > Sterling Supply Chain Application
Console (YFSSYS00004), then* 

A. go to"List View*\\'resource under "Order" entities and check the "Pagination Required"flag. 

B. go to "API" resource under "Order" entities and select one of the Pagination Strategies from the drop-down menu for
the getOrderList API. 

C. extend "Order" entities by right-clicking it and click Save as. In the Extended "Order" entities, go to "List View"
resource and check the "Pagination Required" flag. 

D. extend "Order" entities by right-clicking it and click Save as. In the Extended "Order" entities, go to "API" resource
and select one of the Pagination Strategies from the drop- down menu for the getOrderList API. 

Correct Answer: D 

 

QUESTION 5

A large retailer believes their In-Transit supply is more reliable than their Planned Purchase Order supply for the
purposes of Order Promising. Therefore, they want to exclude 60% of the PlannedPurchase Order Supply Type when
promising, and they want to exclude only 10% of the In-Transit Supply Type. Which IBM Sterling Order Management
configuration should be considered? 

A. In Catalog Management, configure the high velocity item classificationwith a safety factor of 60% and the low velocity
item classification with a safety factor with 10% 

B. In Supply Collaboration, configure the Planned Purchase Order supply type with a safety factor of 60% and the In-
Transit supply type with a safety factor of 10% 

C. In Distributed Order Management, configure the default schedule rule with a safety factor of 60% 

D. In Global Inventory Visibility, configure the Planned Purchase Order supply type with a safety factor of 60% and the
In-Transit supply type with a safety factor of 10% 

Correct Answer: D 
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